FORM OB-MR-35 REVISED NOV. 1962

BY-LAW NO. 2126

N THE CITY	717	OF North	Bay		IN THE
STRICT OF NI	Ътг	sing	<u> </u>		
WHEREAS under are on roads or street proval.				•	provide for expend ter of Highways fo
acts as follows: -		Council of the Cor	_		•
supplement (1) The sum of \$_/ nstruction and mainter ar 19_63_as follows:-	ary 5.5 Sto	548.88 is here exofther roads and rm sewers	by estin	nated as the e under its jur	expenditure upon the risdiction during th
		CONSTRUCTION	MAIN	TENANCE	TOTAL
DADS	\$		\$		š
torm Sewers	\$	75,340.88	\$		75,348.88
NGINEERING AND OVERHEAD	\$				
TOTALS	\$	75,348.88			
the said year. (4) The approval on the said of the sa	r wo	ork commenced wh			•
assed at <u>North Bay</u>		this	<u></u> d:	ay of <i>Octob</i>	in A.D. 19 <u>63</u>
(SEAL)					
Da.	4	laci		CH.	Lewis
Clerk		***		May	or
T. A. Frair		, Clerk	of the C	orporation of	the City
North Bay	., d				*
		the Council of the	said Co	rporation on	the Seventh
o. 2126 passed	d by	the Council of the			the <u>sevenou</u>
	d by	/FD 19 63	_•		
y o APPRO) (ED 19 63	-•		
ay o APPRO) (/FD 19 63		4	a. Laur

CITY NORTH BAY XAXXXXXX

ROAD PROGRAMME FOR THE YEAR 19 63

ITEM 1-CONSTRUCTION-ROADS OR STREETS

				:		ESTIMATED COST		
STREET	FROM	то	LENGTH	WIDTH	DESCRIPTION OF WORK	TOTAL	CORPORATION SHARE	
Nipissing Št.	Gorman St.	Harriet St.	2801		36" & Storm Sewer	8,911.36	6,683.5	
					1 Manhole @ \$250.00	250.00	166.6	
Nipissing St.	Harriet St.	Main St.	2401		30" & Storm Sewer	3,944.19	2,760.9	
					2 Manholes @ \$250.00	500.00	333.3	
					2 Catch Basins @ \$125.00	250,00	166.6	
Nipissing St.	Main St.	McIntyre St.	3051		30" ø Storm Sewer	4,559.73	3,191.8	
					2 Manholes @ \$250.00	500.00	333.3	
		1			4 Catch Basins @ \$125.00	500.00	333.3	
Vipissing St.	McIntyre St.	Copeland St.	3501		30m & Storm Sewer (Lo-Hed)	6,294.20	4,405.9	
	5				1 Manhole @ \$250.00	250.00	166.6	
					2 Catch Basins @ \$125.00	250.00	166.6	
lipissing St.	Copeland St.	Jane St.	3501		30" & Storm Sewer (Lo-Hed)	6,636,45	4,645.4	
					1 Manhole @ \$250.00	250.00	166.6	
					4 Catch Basins @ \$125.00	500.00	333.3	
larence St.	Jane St.	Vimy St.	4151		33" ø Storm Sewer	9,321.73	6,779.4	
. *6	4				2 Manholes @ \$300.00	600.00	400.0	
					5 Catch Basins @ \$125.00	625.00	416.6	
larence St.	Vimy St.	Norwood Ave.	5801		33" & Storm Sewer	9,287.73	6,754.7	
					2 Manholes @ \$300.00	600.00	400.00	
	A				6 Catch Basins @ \$125.00	750.00	500.00	
larence St.	Norwood Ave.	Greenwood Ave.	2761		30m & Storm Sewer	4,056.97	2,839.8	
					l Manhole @ \$300.00	300.00	200.00	
					Catch Basins @ \$125.00	375.00	250.00	
larence St.	Greenwood Ave	Elmwood Ave.	2551		27" ø Storm Sewer	3,417.97	2,278.6	
	•				1 Manhole @ \$300.00	300.00	200.00	
					3 Catch Basins @ \$125.00	375.00	250.00	
	·				TOTAL ITEM 1	63,605.33	45,123.7	

**********	_
WILLAGE	

____ROAD PROGRAMME FOR THE YEAR 19 63

BRIDGES-STRUCTURES OF	TEM 2-CONSTRUCTION-BRIDGES AND CULVERTS BRIDGES-STRUCTURES OF 10' OR OVER					IMATED COST	
	10' OR OVER			•	TOTAL	CORPORATION'S SHARE	
STREET		ТҮР	E	SPAN	\$	ş	
			· · · · · · · · · · · · · · · · · · ·				
					7.		
•	,	•	•	•		•	
CULVERTS-PIPES AND STRE	UCTURES LESS T	HAN 10' SPAN	NUMB	ER			
				AL ITEM 2			
EM 3-ENGINEERING AL	ND OVERHEAD	(MAXIMUM 7%	OF ITEMS 1	ND 2			
							
EM 4-MAINTENANCE-I	ROADS OR STE	REETS			:		
EXTRAORDINARY RESURFAC	CING						
TYPE OF SURFACING	STREET	FROM	то	LENGTH			
			1 -	!	4		
3		***					
	•	*	-		. •		
			• · · · · · · · · · · · · · · · · · · ·				
			 	1		r	
			4	<u> </u>			
ORDINARY MAINTENANCE	AND REPAIR		• •			•	
snow (CLEARING		MILES		2		
WINTER CONTROL SANDI	NG OR CINDERIN	G .	MILES				
APPLIC	ATION OF SALT		MILES				
ASPHALT PAVEMENT PATCH	HING						
CONCRETE OR BRICK PAVE	MENT REPAIRS						
STONE GRAVEL OR CINDER	RESURFACING		MILES	· · · · · · · · · · · · · · · · · · ·			
	PATCHING						
	DRAGGING						
	DUST LAYING (SA.CL.)	MILES	<u></u>		•	
OILING		•	MILES -				
CURB AND GUTTER REPAIR	ı c		MILES				
				•	*		
CATCH BASINS CLEANII	NG AND REPAIRS						
		•	b		•		
				·			
				·			
			TOT	AL ITEM 4			
	•			•			
TEM 5-MAINTENANCE-	BRIDGES AND	CULVERTS			•	,	
BRIDGES	•		NUMBER	,			
CULVERTS	3		NUMBER	· · · · · ·			
			тот	AL ITEM 5	-	*	
TEM 6-ENGINEERING A	ND OVERHEA	D (MAXIMUM 7%	6 OF ITEMS 4	AND 5)			
SUMMARY OF ITEMS ELI	GIBLE FOR SU	IBSIDY UNDER	THE H.I. ACT		CORPOR	RATION'S SHARE ONLY	
		·		<u> </u>		952.80	
CONSTRUCTION TO LOCALITY			(ITEM 1		\$	7/4400	
CONSTRUCTION - ROADS OF	AND COLVERIS				\$	13	
-BRIDGES	ING AND OVER	FAD					
—BRIDGES —ENGINEER	RING AND OVERH	EAD	(ITEM S		, \$		
-BRIDGES -ENGINEER MAINTENANCE - ROADS O	R STREETS	EAD	(ITEM 4)			
-BRIDGES -ENGINEER MAINTENANCE - ROADS O		EAD	43 T	3)	\$ \$ \$	12.5	

TOUCKECK MUNITH BAY

ROAD PROGRAMME FOR THE YEAR 19 __63_

ITEM 1-CONSTRUCTION-ROADS OR STREETS

						ESTIMATED COST		
STREET	FROM	то	LENGTH	WIDTH	TESCRIPTION OF WORK TOTAL CONTROL OF WORK T	TOTAL	CORPORATION'S	
Clarence St,	Elmwood Aye.	Maplewood Ave	. 2761		24" & Storm Sewer	3,364,70	2,243.1	
***					1 Manhole @ \$300.00	300.00	200.00	
					3 Catch Basins @ \$125.00	375.00	250.00	
Clarence St.	Maplewood Ave	.Oakwood Ave.	2761		21" ø Storm Sewer	2,974.64	1,983.0	
					l Manhole @ \$300.00	300.00	200,00	
					3 Catch Basins @ \$125.00	375.00	250.00	
Clarence St.	Oakwood Ave.	Dead End	3601		12" & Storm Sewer	2,954.21	1,969.4	
					2 Manholes @ \$300.00	600.00	400:0	
	***				4 Catch Basins @ \$125.00	500.00	333.3	
					NOTE: Included in amount shown under		4	
					Corporation's share is direct			
					proportion of pipe size over			
					27" diameter which is not			
					eligible for subsidy.			
					×.			
-								
	-						· · · · · · · · · · · · · · · · · · ·	
							2 4	
					TOTAL ITEM 1	75.348.88	52,952.8	

メノダぐ

63

ROAD PROGRAMME FOR THE YEAR 19

TEM 2-CONSTRUCTION-BRIDGES AND CULVERTS BRIDGES-STRUCTURES OF 10' OR OVER					· · · · · · · · · · · · · · · · · · ·	ATED COST	
					TOTAL . \$	CORPORATION'S SH	
SIREEI		TYP	· · · · · · · · · · · · · · · · · · ·	SPAN		\$	
,							
				•		•	
CULVERTS-PIPES AND STRU	JCTURES LESS T	HAN 10' SPAN	NUME	IÉR	· · · · · · · · · · · · · · · · · · ·		
			тот	AL ITEM 2	•		
					3,02,000		
EM 3-ENGINEERING AN	D OVERHEAD	(MAXIMUM 7%	OF ITEMS 1	AND 2			
					į.		
EM 4-MAINTENANCE-F	ROADS OR STE	REETS	*				
EXTRAORDINARY RESURFAC	ING			*			
TYPE OF SURFACING	STREET .	FROM	. то	LENGTH			
		· · · · · · · · · · · · · · · · · · ·		•	*		
			N	•	•		
		y.*·			- 3		
		?* * :	· · . ·				
ORDINARY MAINTENANCE A	ND REPAIR						
			•	. *	# +		
(CLEARING		MILES_				
WINTER CONTROL SANDIN	IG OR CINDERIN	G	MILES		·		
APPLIC	ATION OF SALT		MILES_				
ASPHALT PAVEMENT PATCH	ling						
CONCRETE OR BRICK PAVE	MENT REPAIRS						
STONE GRAVEL OR CINDER	RESURFACING		MILES				
	PATCHING						
	DRAGGING			-			
**	DUST LAYING (CA.CL.)	MILES				
OILING			MILES_			-	
CURB AND GUTTER REPAIR	s						
CATCH BASINS CLEANIS	NG AND REPAIRS						
		······································					
			то	TAL ITEM 4	•		
TEM E MAINTENANCE	BBIDGES AND	CULVEBTE				•	
TEM 5-MAINTENANCE-	DRIDGES AND	COLVERIS	NUMBER	<u> </u>			
BRIDGES							
CULVERTS	* * * *		NUMBER	TAL ITEM 5			
TEM 6-ENGINEERING A	ND OVERHEA	D (MAYIMIIM 7	% OF ITEMS A	AND 50			
SUMMARY OF ITEMS ELI	GIBLE FOR SL	BSIDY UNDER	THE H.I. ACT	,		RATION'S SHARE ONLY	
CONSTRUCTION-ROADS OF	STREETS		(ITEM	1)		,952.80	
-BRIDGES AND CULVERTS			(ITEM	2)	\$		
-ENGINEER	ING AND OVERH	EAD	(ITEM	3)	\$		
MAINTENANCE - ROADS O	R STREETS		(ITEM	4)	\$		
-BRIDGES	AND CULVERTS		(ITEM	5)	\$		
-ENGINEEF	ING AND OVERH	EAD	(ITEM	6)	\$		
			s 52	,952.80			

September 3 63.